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2 WEllEmE 44 39 83 12.0 71.0
3 HEpRE 40 40 80 8.0 72.0
4 | = 37 44 81 9.0 72.0
5  mEfEHEk 40 45 85 13.0 72.0
6 ZJF{HIA 39 40 79 5.0 74.0
T BEARS 39 44 83 9.0 74.0
8 | RN 42 42 84 10.0 74.0
9 KHREH 42 43 85 11.0 74.0
10 | FAVER 43 42 85 11.0 74.0
11 By B34 41 47 88 14.0 74.0
12 mEAFR 47 44 91 17.0 74.0
13 | fEAFNFE 39 41 80 5.0 75.0
14 AJLEH] 40 41 81 6.0 75.0
15 | jEEE 39 42 81 6.0 75.0
16 | FEFIER 41 44 85 10.0 75.0
17 | )& 46 50 96 21.0 75.0
18 | -z 41 40 81 5.0 76.0
19 W EEE 40 42 82 6.0 76.0
20  JEJIZ= 41 42 83 7.0 76.0
21 bR 40 46 86 10.0 76.0
22 JIAYE 42 45 87 11.0 76.0
23 | 5L 50 48 98 22.0 76.0
24 EHARIE 43 41 84 7.0 77.0
25 | =5 46 43 89 12.0 77.0
26 | JEAEEC 44 42 86 8.0 78.0
27 | R 43 43 86 8.0 78.0
28 | AR 46 45 91 13.0 78.0
29  REAR 50 53 103 25.0 78.0
30 | fiikE— 41 47 88 9.0 79.0
31 /IEIER 45 45 90 11.0 79.0
32 BRYCFOVE 43 50 93 14.0 79.0
33 ARHIG 42 48 90 10.0 80. 0
34 PEHER 47 45 92 12.0 80.0
35 FJFITH 43 50 93 13.0 80.0
36 FEEERD 51 50 101 21.0 80. 0
37 WAL EH 52 54 106 26. 0 80. 0
38 EHFEAK 45 48 93 12.0 81.0
39 A 44 47 91 9.0 82.0
40 | PE)IIFEZ 46 44 90 7.0 83.0
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42 | S 51 46 97 14.0 83.0
43 | NERETR 49 48 97 13.0 84.0
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46 IEAE— 47 49 96 11.0 85. 0
47 | R IFEEL 47 51 98 13.0 85.0
48 | FHiw— 49 50 99 14.0 85. 0
49 | BIRIETR 47 54 101 16.0 85.0
50 | /NRAANTE 52 51 103 17.0 86. 0
51 | HiE— 45 53 98 11.0 87.0
52 | HFTEH 48 50 98 11.0 87.0
53 | HPEHETKRR 49 51 100 13.0 87.0
54 | BPRIFOE] 56 53 109 20. 0 89.0
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